
Fill in the Blanks Composite Two-Step Functions 
 
 

Question Input 1st Function 2nd Function Output Answer 

𝑓(𝑥) = 3𝑥 − 1 

𝑔(𝑥) = 𝑥2 + 5 

Find 𝑓𝑔(𝑥) 
      

𝑓𝑔(𝑥) 

= 3(𝑥2 + 5) − 1 

= 3𝑥2 + 14 

𝑓(𝑥) = 2√𝑥 

𝑔(𝑥) = 4𝑥 − 3 

Find 𝑔𝑓(𝑥) 
      

𝑔𝑓(𝑥) 

  = 4(2√𝑥) − 3 

= 8√𝑥 − 3 

𝑓(𝑥) =
𝑥

2
+ 1 

𝑔(𝑥) = 3𝑥2 

Find 𝑓𝑔(𝑥) 

      

𝑓𝑔(𝑥) 

  =  
3𝑥2

2
+ 1 

𝑔(𝑥) =
1

𝑥 − 2
 

ℎ(𝑥) = 4√𝑥 

Find ℎ𝑔(𝑥) 

      

ℎ𝑔(𝑥) 

  =  4√
1

𝑥 − 2
 

𝑓(𝑥) = 5𝑥2 

𝑔(𝑥) = 2𝑥 − 1 

Find 𝑓𝑔(𝑥) 
      

𝑓𝑔(𝑥) 

  = 5(2𝑥 − 1)2 

 
 


